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QUESTION 1

Which device categories are included in WAN Assurance? (Choose two.) 

A. EX 

B. Mist Edge 

C. SSR 

D. SRX 

Correct Answer: CD 

Reference: https://www.juniper.net/us/en/products/cloud-services/juniper-mist-wan-assurance-overview-datasheet.html 

 

QUESTION 2

What is an 802.11 management frame transmitted by an AP? 

A. echo request 

B. ping 

C. keepalive 

D. beacon 

Correct Answer: D 

Reference: https://howiwifi.com/2020/07/13/802-11-frame-types-and-formats 

 

QUESTION 3

Which two statements are correct when managing switches located in a Mist-managed site? (Choose two.) 

A. The site firewall must allow communications from the switch to Mist. 

B. A switch template must be assigned to the site. 

C. The site must have Mist access points. 

D. The switch must be assigned to the site. 

Correct Answer: AD 

Reference: https://www.juniper.net/documentation/us/en/software/nce/nce-214-midsize-branch-mist-pwp/topics/topic-
map/nce-214-midsize-branch-mist-example_part2.html 
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QUESTION 4

Which two Mist-supported APIs are considered event-driven? (Choose two.) 

A. RESTful 

B. gRPC 

C. WebSocket 

D. Webhook 

Correct Answer: CD 

 

QUESTION 5

What are three valid categories of Mist SLEs? (Choose three.) 

A. vBLE 

B. Wireless 

C. WAN 

D. Wired 

E. RF 

Correct Answer: BCD 

 

 

QUESTION 6

Mist cloud supports single sign-on in which two scenarios? (Choose two.) 

A. account login used for NETCONF 

B. Wi-Fi guest login access 

C. account login used for the RESTful API 

D. admin login to the Mist portal 

Correct Answer: BD 

 

 

QUESTION 7

What is a feature within Mist AI that uses unsupervised machine learning? 
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A. vBLE engagement 

B. Insights 

C. Service Level Expectations 

D. Alerting 

Correct Answer: B 

Reference: https://www.mist.com/resources/mist-platform-solution-brief/#:~:text=Natural%20Language%20Processing%
20(NLP)%20is,accurately%20locate%20users%20and%20devices 

 

QUESTION 8

The status of user authentication will affect which pair of SLEs? 

A. Successful Connects and Time to Connect 

B. Coverage and Roaming 

C. Capacity and Successful Connects 

D. Time to Connect and Throughput 

Correct Answer: A 

 

 

QUESTION 9

Mist Insights will provide detailed information about which two categories? (Choose two.) 

A. AP 

B. Client 

C. Organization 

D. Templates 

Correct Answer: AB 

 

 

QUESTION 10

Which statement is correct about Marvis Actions? 

A. It summarizes user trouble tickets and detected AP problems. 
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B. It automatically detects and reports network problems. 

C. It summarizes all of the misconfigured WLANs at a site. 

D. It automatically issues an RMA for an AP. 

Correct Answer: B 

Reference: https://www.mist.com/documentation/what-is-marvis-actions/ 

 

QUESTION 11

Which statement is correct about a WLAN RF medium? 

A. A WLAN RF is a full duplex, contention free medium where each client transmits on a separate channel. 

B. A WLAN RF is a full-duplex, contention-free medium where 802.11 stations can transmit and receive at the same
time. 

C. A WLAN RF is a half-duplex, shared medium where 802.11 stations contend with each other for access. 

D. A WLAN RF is a half-duplex, contention-free medium where the access point polls each station in turn. 

Correct Answer: C 

Reference: https://thewlan.com.au/2017/01/13/cwna-chapter-7-wireless-lan-topologies/ 

 

QUESTION 12

What does Mist with Wi-Fi Assurance do to detect a bad cable connected to an AP? 

A. It monitors SNMP trap information. 

B. It performs cable tests. 

C. It sends probe traffic through the cable connections. 

D. It applies machine learning to telemetry data. 

Correct Answer: B 

Reference: https://www.hcd-consulting.de/en/mist-wired-assurance-offers-new-insights-into-cable-networks/#:~:text=Th
e%20main%20problems%20in%20networks,user%20experience%20is%20significantly%20impaired 

 

QUESTION 13

Which two domains comprise artificial intelligence (AI)? (Choose two.) 

A. machine learning 

B. deep learning 
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C. SIEM 

D. virtualization 

Correct Answer: AB 

Reference: https://www.analyticssteps.com/blogs/6-major-branches-artificial-intelligence-ai 

 

QUESTION 14

You are using the autoprovisioning feature to assign a name to an AP using the AP Name Generation option. In this
scenario, from where is the name derived? 

A. from the LLDP port description on the switch 

B. from the AP model designation 

C. from a pre-loaded CSV file 

D. from the AP\\'s MAC address 

Correct Answer: A 

 

 

QUESTION 15

Marvis has determined that an issue previously experienced by a user was not resolved by any action taken by Marvis
or an administrator, and has resurfaced. Under which type of Marvis Action category does this issue fall? 

A. Service Level Expectation 

B. Reoccurring Issue 

C. AI Validated 

D. Resolved 

Correct Answer: B 
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